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3 Workmen dig a trench in level ground.

‘The cross-section of the trench is a trapezium ABCD with parallel sides of length 1.1m and
1.4m and a vertical height of 0.7m.
Calculate the area of the trapezium.

‘The trench is S00m long.
Calculate the volume of soil removed.

‘One cubic metre of soil has a mass of 4.8 tonnes.
Calculate the mass of soil removed, giving your answer in tonnes and i standard form.

Change your answer to part (¢) into grams.

trench, as shown in the
Calculate the volume of the cylindrical pipe.

The workmen put a cylindrical pipe, radius 0.2 m and length 500 m, along the bottom of the

“The trench is then refilled with soil.
Calculate the volume of soil put back into the trench as a percentage of the original amount of
)
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‘The shape above is made by removing a small semi-circle from a large semi-circle.
AM=MB=12cm
Calculate the area of the shape.

11 Mis proportional to the cube of .
When r=3, M=216.
When 7= 5, find the value of M.
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4 [The surface area of a sphere of radius r is 47 and the volume is $°.]

() A solid metal sphere has a radius of 3.5 cm.
One cubic centimere of the metal has a mass of 5.6 grams.
Calculate
(@) the surface area of the sphere,

(ii) the volume of the sphere,
(i) the mass of the sphere.

NOTTO ﬁ -

16cm 16cm

Diagram | Diagram 2

Diagram 1 shows a cylinder with a diameter of 16.cm.

It contains water to a depth of Sem.

‘Two spheres identical to the sphere in part (a) are placed in the water. This is shown in Diagram 2.

Calculate J, the new depth of water in the cylinder. “

(&) Adifferent metal sphere has a mass of I kilogram.
One cubic centimere of this metal has a mass of 4.8 grams.

Calculate the radius of this sphere.
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OPQis a sector of a circle, radius 12cm, centre O. Angle POQ = 50°.

ORS is a sector of a circle, radius 6 cm, also centre O. Angle ROS = 30°.

(@) Caleulate the shaded area.

Answer(a)

(b) Calculate the perimeter of the shaded arca, PORSOQP.
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